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Question Number : 1 Question Id : 3354727431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Ehimbetka caves are famous forits_____ | e T ____ o T o B
Options :

1. ® Sculptures | giaar

2. % Tiger parks | TTETX U1

z. % Rock paintings | &7 ==t

4. % Temples | AfGTS

Question Number : 2 Question Id : 3354727432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

"The Lakshrni Bai National Institute of Physical Education” is located in which district of Madhya Pradesh? |
ey o o T T § AsHtaTs e seetale T e T T 8e

Options :

1. ® Rewma | TiaT

2 & Gumlior | TR
= ¥ Indore | 221

4. % Satna | 9947

Question Number : 3 Question Id : 3354727433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Atomic Energy Cormrnission is responsible for formulating the policy for the atornic energy activities in the

country. When was it set up? | UCAT] F=11 T2 T8 § weEm] S mid fefet g Afa ey &= & 7y soedt i T8
) TEFIT T 47T

Options :

1. % 1960
Z % 1958
5% f451
4. ¢ 1948

Question Number : 4 Question Id : 3354727434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Beri-beri is caused due to the lack of which one of the following substances? | FFafeET § & g uamwef & wd &
F e~ T F1T 27

Options :

1. % Vitamin E1 | Tef= a1
Z % Protein | we

2. ® Vitamin C | EermT
4. % Fats | oA

Question Number : 5 Question Id : 3354727435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
When was the 'All India Muslim League' founded? | ST AT 14 GREaH /T hT TAT0ET @ 55 217

Options :
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1. ¥ 1902
= ¥ 1906
29§03
4 % 1919

Question Number : 6 Question Id : 3354727436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘International Tiger Day’ is celebrated on _____________ of every year. | 'SIAXIE S oTd ToeeT Hadw ay_________ w
HATT TG 81

Options :

1. % 29th July | 29 ﬁ_ﬂg

2 % 13thMay | 137

3. ¥ 23rd July | 23 F7E

4. % 15th May | 1578

Question Number : 7 Question Id : 3354727437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who promulgates ordinance in states? | T4l § ST ®19 &0 #7527

Options :

1. % Governor | 9T

2 % Chief Minister | Jeadd!

3. ® President | U

4 #® Chief Justice | §&F ~Teta

Question Number : 8 Question Id : 3354727438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
[ndia and China were locked in a months-long military standoff in this HiI'ﬂEllEl.}?El.I'l regicon. Marme the region. |

= TEATAET &7 # UF Api & fdl TAT 9 O Tiaw el # e & = a2 90 83 &7 979 a9

Options :

1. ¥ Shangri-la ; dd-am

2 #® Daulat Beg Oldie | Sied &1 sieat
Z. ¢ Doklam | SiFam

4. % Ladakh | @i

Question Number : 9 Question Id : 3354727439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which one of the following articles was called as the heart and soul of the Constitution” by Dr. ER.
Ambedkar? | =T 1 AT m%zmgmﬁﬂﬁﬁaﬁﬁaﬁ:rm et i W TS oI HTcHT FeaTal a7

Options :
1. ¢ Article 32 | arfedg 32

2. % Article 19 | a9g 19
3. ¥ Article 350 | affedg 350
4 % Article 363 | aJeig 363
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Question Number : 10 Question Id : 3354727440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who is the founder of Tata group of companies? | TTET HHE FUT & HEIUF B9 57

Options :

1. ¥ Jarnsetji Nusserwarnji Tata | SRS JHRET=T 2T
2 % ] R D Tata | 3 ¥ =1 TET

Z. % Ratan Tata | @@4 21T

4. % Dorabiji Tata | RTE=T T@T

Question Number : 11 Question Id : 3354727441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which one of the following dance forms is Rukmini Devi Arundale associated with? | 89 & & @19 &1 a7 et
FIHOTT 22T Saa o Galed 57

Options :

1. % Bharatnatyam | Woa-Teq
2 % Kuchipudi | Figar

= ® Kathak | #o@

4. ¥ Kathakali | Fal

Question Number : 12 Question Id : 3354727442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The largest desert in India isin ______ | AT H we gsT e -
Options :

1. ® Uttar Pradesh | 3qa¢ mga

2. ® Bihar | TEX

2. ¥ Rajasthan | TFea=
4 % Madhya Pradesh | We@ nagar

Question Number : 13 Question Id : 3354727443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wery high grade Iron Ore is found in the districts of
T AT 21

Options :

1. ¥ Morena and Rewa | GeAT 3% Tam

2. % Ratlam and Dhar | WdAH 94X 9%

2. ¥ Durg and Bastar | g #il¢ sgay

4 # Ujjain and Kalurnar | 3504 @ FIgAT

Question Number : 14 Question Id : 3354727444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

IMobel Laureate Kailash Satyarthi was bornin ________ | TSI YR T T e geare] w1 0
Options :

1. % Vidisha | Tafgam

2. ®¥ chahdol | MEEA
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= ¥ Mandla | F=aT
4 % Indore | 2EX

Question Number : 15 Question Id : 3354727445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

where is the temple of Mangalnath, which is dedicated to the planet Mars? | AT @ ATSE T51 &, AT AA 05 &7
TnitT 27

Options :

1. ¢ Ujjain | 34

2. ¥ Maheshwar | AgsR

3. ¥ Orkareshwar | SMHFETCIET

4 % Datia | =fEaT

Question Number : 16 Question Id : 3354727446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
where is the samadhi of Maharaj Chhatrasal situated? | AFETS TGN &1 TATE FgT 0T 57

Options :

1. ¥ Mahowa | AgfET
2. % Orchha | afvET
3. ¥ Raisen | T9Eq
4 Dhubela | geam

Question Number : 17 Question Id : 3354727447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which ternple was renovated by Colonel Martin? | @ AT gRT T9d Tieg &1 AH foT = ar?

Options :

1. ¥ EBaijnath Mahadev temple | =T AZIST At
2. % Ram temple | TTH AT

3. ®¥ Chintaman Ganesha termple | T M AT
4. % Rani Sati Dadi temple | THT @41 5T Al

Question Number : 18 Question Id : 3354727448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Identify the name of the cormrmunity that got the rinority status in 2014: | 2014 ¥ 5H HHEM B SlewEead B o1
THAT, TEHT 10 =T

Options :

1. ¥ Parsis | ywdr

o % Sikhs | g

= ¥ Jains | 99

4. % Buddhists | &g

Question Number : 19 Question Id : 3354727449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The first Indian fernale wrestler to win a medal at Olympics is
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Options :
1. ¥ Sakshi Malik | T Afewew
2 % Babita Kumari | fedl FHRI
= % ¥inesh Phogat | [E=a ®ime
4. ¥ Geetha Phogat | a1 ®ME

Question Number : 20 Question Id : 3354727450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
According to 2011 census, Madhya Pradesh had a literacy rate of

J 2011 & FEIET & SER, TeawEa o

HIGRATal ______ M
Options :
1. ¥ 935%
2. % T0.6%
3% 45 55
4 ® 532 9%
Zereral Maths and General Aptitude
Section Id : 335472234
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472234
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Pipe & can fill a tank in 4 hours whereas pipe B can empty it in € hours. If both the pipes are opened together,
then the number of hours needed for the tank to be filled is____. | UTEW & U T @1 4 T H W Fhd1 § Tal 1w T2 B
IH E Tl H WA B GaT 51 Tie a1 TS S UEETT AT AT 5, F1 S0 w1 3 6 e uet o w8

Options :
1. ¥ 8hours | 8°¢

2 % 9hours | 9O
2. % 10hours | 109
4 ¢ 12 hours | 12 ¢

Question Number : 22 Question Id : 3354727452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If 6%° — 24x° — 5x + 6 is divided by x + 2, then the remainder is: /T7¢ 6x° — 247 - 5x+ 6 x+
29 fETiold T ST §, o 99 g

Options :

1, ¥ =22

2 % -18

3. ¥ 16

4 % z2

Question Number : 23 Question Id : 3354727453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘\-"E ® ﬁ.-"ﬁ =7

Options :

Question Number : 24 Question Id : 3354727454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

SR TS
Options :
1. % 36
sWrE
3.8 20
4% g

Question Number : 25 Question Id : 3354727455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the square root of 4417 | 441 %7 aTige 47 27

Options :
1% 11
5wl
3 % 49
4 % 29
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Question Number : 26 Question Id : 3354727456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Find the average. | 3f\a ez
15, 63, 23, o6, 22

Options :
1.% 35
w8 2p
2% oy
4 % 25

Question Number : 27 Question Id : 3354727457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The number 83216.5 in the standard form is written as 8.32165 x 10" where nis: / &g

83216.5 & Al &7 F 832165 x10"& &7 & fo@r oar 8, J6l n g
Options :
1, % 3
2. ¥4
5 %k
4 % g

Question Number : 28 Question Id : 3354727458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If ZA=20° and ZAFG = ZAGF, then /B+ /D equalsto___ . /afg £A=2003T LAFG=
ZAGF df, Z/B+ /D % S B

Options :

L%
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Question Number : 29 Question Id : 3354727459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The average of 26, 76, 126, 176, 226, 276, 326, and 37615
&7

Options :

1% 176
S 111
=% 508
4% 211

| 2B, 7B, 126, 176, 226, 276, 326, 3T 376

Question Number : 30 Question Id : 3354727460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The number of digits in the product 4°X 510is /4% SEDW H HhI hT G&AT

___ &l
Options :
1% 1D
Wl
=i g
4 ® 9

Question Number : 31 Question Id : 3354727461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A man went from A to B at 50 kmih Ellﬂd Carme back at 100 1-'{1'[1]'1'1 What is the a}rerage speed for the entire
journey? | U ek A §E T S0 T W € way o 100 Tt e § 9 wie smm Syl arET @ itad i g 87

Options :
1. ® 7S km/h | 75 TRt EeT

= % 3333 km/h | 33 33 A EET
2. ¥ BE.BE kun/h | 66 & TR/ TET
4 #® None of the above | I0g® & § ®15 51

Question Number : 32 Question Id : 3354727462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Ina group of 10 boys, 2 of thern are all-rounders. What is the probability that a boy selected at random turns

out to be an all-rounder? | 10 AS®! & UF g H, 90 € 2 ST6-TIIST §) T 747 W[ 5 o AgRed & & T2
ASH UF 1A —TI3ET g T ITT?

Options :
iR

S
2% n2s
4 % qs5

Question Number : 33 Question Id : 3354727463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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In the figure, strips 1, 2 and 3 have the same horizontal width *a’ units. These strips connect two

parallel lines. Which strip has the largest area? / i #1, 2 3X 3 ufzal &1 A aifas g9l
‘2’ SRS §1 U URRET & AN @R &Y Sisar &1 e 92T &1 sEwe ey A &2

a a
| // > >
Options :

1. ¢ 4ll three strips have the same area. | T F147 ofz=t &7 909 8967 81
2 % Strip 1 only | #aw sl 1
2 ® Strip 2 only | FEA TSI 2
4 ® Strip 3 only | Fad U513

Question Number : 34 Question Id : 3354727464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If 30% of a number is 300, then the number is: | Jie Uw AT @1 30%, 300 §, T4 I3 €T &

Options :
1. % 900
2% 10
= ® 100
4. % 1000

Question Number : 35 Question Id : 3354727465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The age of Sushil 6 vears ago was three tmes the age of Snehal Six years henee, the age of Sushil would
be§ times that of Snehal. What is the present age of Snchal?/ 6 39 9gf HINT FT 3T Fga #

HG §1 A T o) 6 97 d., e #T G Fgw B - A §EN| Fge 6 goAe 3G

wilen

T §7

Options :
1. % 14 years

| 14 ad
2. ® 22 vyears | 22 a9
3. % 18 years [ 18 o
4 ¢ 12 years [ 12 o

Question Number : 36 Question Id : 3354727466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The population of a city is 15,00,000. If it increases by 10% during the first year, decreases by 20% 111 the
second year and increases by 30% in the third %ear then the population after 3 vears is: | Uk 8¢ &l ATGE]

15,00,000 31 AT =5 WA @ & SR 10% 8 a5 =T g, W@raﬁﬁzo%ﬁﬂﬁm%aﬂt@haﬁﬁm%ﬁaﬁqﬁr% s
aﬁmm@iﬁ
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Options :
1. %17 16000
o % 1750000
Z. % 18,50,000
4. % 16,00,000

Question Number : 37 Question Id : 3354727467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

x-12x+36 isequal o [/ xB12x+36, FETE §

Options :
(x-6)

i R0
3. ® -g)x-4)
4 B 5-12%-3)

Question Number : 38 Question Id : 3354727468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The roots of the equation 6(x+1) = 13x are: / T 6(x*+1) = 13x % I+ §:

Options :
1L X3 8

b
2 B

Fod

Lad |

5
#®

Lad | a2
[

Question Number : 39 Question Id : 3354727469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If SE78ATE is divisible by 36, then A is__. | AG S678A76, 6 Ao dTA ____ 8

Options :
1. *:p
2 % g
3.¥6
4 %5
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Question Number : 40 Question Id : 3354727470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
44 + 444 + 4444 + 44444 =7

Options :

1. ® 42478
2. % 48758
3. ¥ 49376

4. % None of these | 598 & ®12 751

seneral Hindi

Section Id : 335472235

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472235
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

TR Ut Teeat, Ut el o fagr Bvar &t Iovmemd 8
Options :

1. ® st

2 ¥ Tger

z. % gegg

4 % gt

Question Number : 42 Question Id : 3354727472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
HHIE 2]

Options :

1. ¥ g

2 ® gy

3. ¥ R

4. % Tamel

Question Number : 43 Question Id : 3354727473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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B el T S -

Options :

1. % gar

= o T T

3. ® e

4. % U

Question Number : 44 Question Id : 3354727474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
o WA £l G R T T B T | e ) T L T L e R A e e T = A TEAT &)

Options :

1. % aremg
2. o fume
CHR =
4. ® g

Question Number : 45 Question Id : 3354727475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Aefdma s oy gtefivagded v g7 w'w g a i af gl arfEeter _____________ B ST &l
Options :

1. % g

Ak -1

3. 8¢

4 ® ¢

Question Number : 46 Question Id : 3354727476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘g T UL T T T i 67 ee

Options :

1. % gaq
2 % g
3 gudT
4. % gad

Question Number : 47 Question Id : 3354727477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

AT AT R & W U seg Mg A S @ ar Ee
Options :

1. % 97

2 ¥ TATdw

3 ® T

4. % e

Question Number : 48 Question Id : 3354727478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0

MR T Are fdede Mg d T @ arg?
Options :

1. ® T4am

2 ¥ T+amm

3. ® TH+anr

4. ® T 4 a0

Question Number : 49 Question Id : 3354727479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

U0 T AT eg g 0 & BT ATE7
Options :

1. ¥ gy

2 % fqumm

SRR

4. % g

Question Number : 50 Question Id : 3354727480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

iy T & o ea Py A F AT
Options :

1. ® gmEg

2. ¥ g

2 ® g

4 & gy

Question Number : 51 Question Id : 3354727481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

BE-HTT g H 9 # & %19 97 907 27
Options :

1. ¥ Jouey qAE

= o ZE AaEg

3. 8 gy guTe

4. ¥ iy gue

Question Number : 52 Question Id : 3354727482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

S UEAT gEew @ e e A e e ar g
Options :

1. % ot sEAr

2. FraH T
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Question Number : 53 Question Id : 3354727483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
“TRUTET T g 7 48 H & B AT E?

Options :

1. ® uritaat
2 ® giedr
= ¥ Ui
4. % gierg

Question Number : 54 Question Id : 3354727484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘AT T T T 9T 590 & T a1 87

Options :
1. geaw
2% O
3. % ofk
4 % 79

Question Number : 55 Question Id : 3354727485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
GREIEERIAHEEIAEIR I

I £ AT 2 o AT Y 2 e 2
H 19 AT sFw R 8 dgf feweug giee

Options :

1. ¥ TiF adF
o, % A sEwr
2. % U SEER
4. ¥ qAF AR

Question Number : 56 Question Id : 3354727486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T T areg @ e fog o # & g - arfar
Options :

1. % {drger ot ot 1T 9T F0AT e

2 ® I8 F03, aganiad ud e o @1 fads g7 e
=, o ol et @ o S F gET anem

4 % gt o o1t o god w1 Sengd wT HhaT gl

Question Number : 57 Question Id : 3354727487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘T T U Teg o ToT ST ST feg 0]
Options :

1. % oz ot e
2 & ST T AT
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3. % o & e
4 % Frg &1 amT

Question Number : 58 Question Id : 3354727488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T v AT TR A H, SH 6 IS U I g aqTsy]

Options :

1. % guidrr
2. ¥ aEuidrg
3. % st
4 ® e

Question Number : 59 Question Id : 3354727489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ST e T SR T E -
Options :

1. % diegy

2 % gur

3. ¥ TIT-SA

4 ® it

Question Number : 60 Question Id : 3354727490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘Tiege 1 aHE-TaTy weTE
Options :

1. % g

2. ® g @ ugE aer

3. ® 1E @ FIS aeEr

4 & TIRE T Fa aem

Fural Economy and Panchayati Raj

Section Id : 335472236

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472236
Question Shuffling Allowed : Yes
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Question Number : 61 Question Id : 3354727491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which scheme is renamed as National Rural Livelihood Mission? | Tomd TF=T @7 AT SS6@ S99 & ﬁaﬁﬁ};’
TERTT (FTET=T TITHTOT STt iaenT T ¥=a7 e &7

Options :

1. ® Integrated Rural Development Programme | SRS #d SaaTHe WA

2 # National Rural Employment Prograrmme | =9 &6 GHYAaHE Tie

=, ¢ Symrnajavanti Grameen Swarozagar Yojana | T g T TTHIT TR AT AT
4 % Rashtriva Gram Vikas Yojana | TR 0 foemE Jr-T

Question Number : 62 Question Id : 3354727492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
what is the primary function of Kisan Mitra in Madhva Pradesh? | Aea near # e 07 &7 wmaiies @ @am &7

Options :

1. ® To work as agricultural labourer | 1Y SiH® & &0 H @4 @1

2 % To guard the fields of the farmer | A & S1 & Geam FAT

=. ¥ To spread information regarding government schermes | ST AT & o H ATwTe! Wad T
4. % Tocarry farmer's produce to market | TFEET & Je02] & TR T8 o AT

Question Number : 63 Question Id : 3354727493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

what is the name of the emporium selling Madhya Pradesh handicrafts products all over India? | Hea 0
gEA1AwT SouTel o Q¢ AT ¥ Teeht @ aet T dieg @ o/ AT 27

Options :

1. ® shabari | S&RT

z % Narmada | FsaT

= ¢ Mrignayani | GEIAT
4 ® Kaveri | FTel

Question Number : 64 Question Id : 3354727494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Ifrﬁlr%h;% vear was Swarnjayanthi Gram Swarozgar Yojana launched? | @i S2e T T Tai e T F=-T o ay e

Options :

1% 2o
z % 2007
=% Sh0s
4. ¢ 1999

Question Number : 65 Question Id : 3354727495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the following is MOT a pur]%%se for which an Agriculture Investrment Loan is granted to a farmer? |

FTeaT & 91 ST Moo 78 & T 1ol U T T F00T 0o TopeTTet a1 Tt T 27

Options :
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1. % Buving seeds | & & Gl

2. % Irrigation | =me

Z. % Buying agricultural machinery | Y Bafi=<T & =g
4 % Land Development | 4 e

Question Number : 66 Question Id : 3354727496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the maxirmum age of a girl eligible for opening account in Sukanya Sarmriddhi Yojana? | G- adig

Options :

1. % Pyears | 7 Ay
2 % Svears | 5 oW
3 % 9years | oW
4 ¢ 10 vears [ 10 a8

Question Number : 67 Question Id : 3354727497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the fo}lowing States was awarc}ed for CDHStI‘LlCtiI]g highESt road len%;c_ﬁt} in 201&-17 under PMGSYY |
HIRITEETE & Sfdfid 2016-17 H Faited dars ool o s o o] Haierad 8§ & g T @1 qresr o = ar?

Options :

1. ® Gujarat and Assarmn | T9XT 0d 368

2. ¥ Bihar and Madhva Fradesh | g% 0a 7z mdar
3. ® Maharashtra and Goa | WERTYE T T

4. % Himachal Fradesh and West Berigal | AT W8 U qF2IA a1

Question Number : 68 Question Id : 3354727498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Madhva Pradesh Ceiling on Agricultural Holdings Act was enacted in _____ .| T U H Ul dead Blieatd
e OF FE[a W AT & _____ # EEIRIEIE

Options :

1. % 1940
2. % 1950
= ¥ 1960
4. %® 1970

Question Number : 69 Question Id : 3354727499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Wwhich is the main objective or motto of the Fanchayat Raj syster? | T=Tad T e ®T §Ed #5647 g 747 87

Options :

1. ® Econormic Power | &Ti® afh

2. ¥ Decentralized Democracy | Edieg Aleds
2 ® Administrative Education | WemEi-er fSem
4. % Rural Development | TTHT @@
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Question Number : 70 Question Id : 3354727500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

where is Indian Institute of Soil Sciences located in Madhya Pradesh? | Hed Wey H $iEaH Seeia STk Ql5e HIoer
(9T 1 HaT e e wET e 87

Options :

1. % Bhopal | 0T

2 % Gualior | MA@

3. % Indore | 22X

4. %® Jabalpur | F=Eeyt

Question Number : 71 Question Id : 3354727501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
where in Madhya Pradesh is Central Institute of Agricultural Engineering located? | T=a 0o § €gd secieqs &F
. b e : : ;

ST TE=) FET 27
Options :

1. % Ehopal | {mOTer
= % Indore | g2
2. ® Gumlior | @

4. %® Jabalpur | Syt

Question Number : 72 Question Id : 3354727502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
How many regulated agricultural mandis are there in Madhya Pradesh? | B2 0ga O Fol a1 gy Az &t

Options :

1. % 200-400
2. % 400-500
2. ¥ S00-600
4. ¥ 600-700

Question Number : 73 Question Id : 3354727503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘ii;;lrgtclt 0; twhgo’lflgli;mng is NOT a variety of rice in India? | a7 # MgRRET # & fom warid &7 =ae 951 91T Fa7 57
Options :

1. ® Red Rice | @ =&

2 % Black Rice | ®T#T Idd

= ¥ Elue Rice | S =g

4. % Brown Rice | 987 &

Question Number : 74 Question Id : 3354727504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which amorg the following Fncowrl as ZFs) 15 NOT considered under Panchayat Ermpoweriient &

Accountability Incentive Scheme? | FomET & @ frgd o § (SF & 910 9 W=ied) t=Td 9o e U Faealiaed

Options :
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1. ® Funds | ffeat

2. % Functions | &1

=, ¥ Farmers | et

4 ® Functionaries | UZITEERGl

Question Number : 75 Question Id : 3354727505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

How many Eegional Rural Eanks are functioning in India as of March 20167 | ¥vad # A 2016 7% o+ g&=
TTHT & T 57

Options :
i, % 28
i
3. ¥ 58
4 ® g7

Question Number : 76 Question Id : 3354727506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The National Developrment Council (NDC) was founded in _____ | T e O (TS T __ HEE
o

Options :

1. % 1947
Z % 1963
5 Wdasn
4 % Jo54q

Question Number : 77 Question Id : 3354727507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

India’s rank on the 2017 Global Hunger indesx is _____
Options :

1. % g7 outof 119 1198F 97

2 ® ggoutof 121 | 121 HHEE

3 % g7outof 123 123 H#HE7

4 % 100outof 119 11989 100

Question Number : 78 Question Id : 3354727508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the following is NOT the function of Panchayat in the case of Self Help Groups under Swarnajayanthi
Grarm Rozgar Yojana | @l T HgTaaT SHg T00 ST T FaX AR ST & Siaid $ITaT 5 o Uared 7 5 § F #1941
T A5l 87

Options :

1. ¥ Identifying Below Poverty Line families | THI&T (8T & S S A0 F- a7 Oiait &1 &ieea #ear

2. % Release the Capital subsidy [ Q9T S ST AT

3. ¥ Release Revolving Funds | oiwrdt =Ter St aw=r

4.« Market the products of the group | THg & IeHIG! HT TSHUH HAT
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Question Number : 79 Question Id : 3354727509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which authorities conducts elections to Panchayats in states? | Tl § &4 @7 WTE@0T G==d gH1d Saral o7

Options :

1. ® Election Cormrmission of India | WRa @7 FHafae dmm

2 ¥ Respective State’s Election Cormrmission | HeTed T & g1 AT
3. ® Ministry of Panchayati Raj in the state | T4 %1 0=@d | T 8309
4. % District Collector of the respective districts | Gated Fe &7 Faraiar

Question Number : 80 Question Id : 3354727510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The objective of Mission of Agroforestry isto ______ .| FiETET e W g ______ 2

Options :

1. ® Replace all agriculture lands with forests | QT §i9 7 94T 0 S 007 FAT

2 ¥ Expand the tree coverage on farmiland under cultivation | FY AT 90 W SiTEew Fa4i ®T e weT
= ¥ Promote cultivation in forest areas | a9 &3 § & &1 &2@T 247

4. # Find market for forest produces | a9 JcAlgl & 100 SFAR &1 AT FLAT

Cornputer Knowledge

Section Id : 335472237

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472237
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Abbreviation for ‘CC in e-mail application is: | §-Hd Uqeira § AT T4 HiEr 7 g0 &7 &
Options :

1. ¥ Company Copy | ®UAT 0T

2 % Cornmon Copy | ®TAF ST

= ¥ Carbon Copy | T @mr

4 ® Casual Copy | Sralel ®TAT

Question Number : 82 Question Id : 3354727512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
10th Dec17 Shift 2



10th Dec17 Shift 2

Options :

1. ® Scanner | gFT
2. % Kevboard | #aig
= & Printer | fifew

4. % Mouse | AIIH

Question Number : 83 Question Id : 3354727513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Gantt chart can be easily drawn in: | e a@ &7 sqH ATEHT & FH=T S 9T 5

Options :

1. % MS Word 2007 | TATH 92 2007

2 % M5 PowerPoint 2007 | THUH Wlaiqaise 2007
3. ® MS Access 2007 | UAUE UFHE 2007

4. % MS Excel 2007 | THTE THFHd 2007

Question Number : 84 Question Id : 3354727514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

An excel document that are stored as files is called _________ | T UPAH STgHe AlTE BIEAl & & § @UiEd AT s,

Options :

1. ¥ wworkforce | T
2. ¥ worksheet | addflT
2. ¥ worktable | Fdced

4 ® workgroup | aT

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 85 Question Id : 3354727515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhat is the shortcut key for underlining a word in M5 Word? | TAUE 92 § UF T2 &1 SISTATST He & o0 &9 91
Options :

1. ¥ CTRL+U

2 ® CTRL+V

2. ® CTRL+ X

4 % CTRL+Y

Question Number : 86 Question Id : 3354727516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

& software which allows user to view the webpage is known as: | o5 S1Feda AT ZHT BT e ga@- @i e a1 2,
[EECEECICINS

Options :

1. % Internet Browser | Set-T sT3=7
2 % Operating Systern | ST e
= ¥ Website | SadET
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4 ® Client | T

Question Number : 87 Question Id : 3354727517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
A& cornputer cannot 'boot!, if it does not have the

Options :

1. ® Compiler | FHIEAT

2. ® Loader | A2

2. ¥ Operating Systern | SR Heeq
4 ® pssermnbler | SHEHET

Question Number : 88 Question Id : 3354727518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The minimum number of rows and colurmns in M3 Word docurment is: | TATE 92 STggHe # FgAa fora € ofic
EACEEACE

Options :

oM s M

2% 2endl 2R

Z ® zand 2| 2ARz

4 % None of the above | IUgT § & H1E 751

Question Number : 89 Question Id : 3354727519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which menu in MS Word 2007 can be used to change character size and typeface? | TAUE 92 2007 ¥, o g @7
T et A5 ST TTEhE B dge o o] f&aT a7 27

Options :
1. % View | 99

2. ¥ Review | Wag
= ¢ Home | 59

4 #® Inszert | gA@¢

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 90 Question Id : 3354727520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

_________ is not a part of CPU. | _________ 1] %7 UF BHar 751 8l

Options :

1. ® Storage unit | GENT giAE

2 % ALU | Uusg
2. ¥ Prograrm unit | TTH I

4 % Control unit | FEd T

Question Number : 91 Question Id : 3354727521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which special character is used to select page range for printing in a docwrent? | TaF SiggHe ¥ T & T = &=

10th Dec17 Shift 2



10th Dec17 Shift 2
Options :

1. ¥ Hyphen | 6T

2. % Comma | ®HT

2. % Plus | 009

4. ¥ Colon | ®&T

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 92 Question Id : 3354727522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which of the following is a link to access any itern on your COTMputer or On a network such as a prograrm, file,

folder, etc? | MRATHTET H & B9 §7 Ud Ach A6 U BTEFH, BIEe, BIST S1E 0T 97 ST TR O¢ [hal STEcH @1
T @t o Tl e foidr 57

Options :

1. ¥ [con | amEwA

2 ¢ Shortcut | Sdge
Z. % Link | @@

4. % Path | omer

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 93 Question Id : 3354727523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which term is NOT related with font group in M5 word 20077 | TATE 92 2007 §, %19 91 $6&E, B Q0 9 Gaiad A51

Options :

1. ® shrink Font| & o

2 % Font size | BT @54

3. ® Font color | HE K

4. % Font grarmumar | Hi-e TTH

Question Number : 94 Question Id : 3354727524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Dot matrix is type of: | STe-BiTEd 56%T 0% TR 2471 &
Options :

1. ® Floppy disk | gamdr 2w

2 *® File | BIga

=, 9 Printer | et

4 ® Monitor | BT

Question Number : 95 Question Id : 3354727525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Unsolicited commercial e-mails are known as: | SAUET FHSIA S-Hed &1 26 A0 9 of T=7 a7 8

Options :

1. % Just email | Fad SR
2 ¥ Spam | 900

=% Chat 1 i
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4 % Bulk mail | =e® #a

Question Number : 96 Question Id : 3354727526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
In M5 Word, you can force a page break by: | THIE 92 §, 310 WHA & ERT 0% U 5w &1 B B G99 5

Options :

1. ® Positioning your cursor at the appropriate place and pressing the F1 Key | S10- #%T ®1 I S0 0T 79 3
AT F1 it &l ga &

= Positioning your cursor at the appropriate place and pressing Ctrl +enter | 3 FET W I AT U T3 &
ST Ctrl +enter it HT a1 &

3. ® Using the InsertSection Break | $96¢ @I st ®1 JUAN Far
4 % Changing the font size of your docurment | 310 STHEIHT HT BT G5 da0 FE

Question Number : 97 Question Id : 3354727527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which one of the following results a cornputer CANNOT perform? | UF FHILLT HHA # & 327 9feos, ugida Ag1 &

T &7

Options :

1. ® Input | 347

2. % Output | AEYE
2. ¢ Thinking | T

4, ¥ Processing | W&

Question Number : 98 Question Id : 3354727528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

4 high-speed internet connection or wideband transmission is known as: | ge-HIg Tet2 B-gd- 4T dEsds
T 56 AT & HT A= AT 8

Options :

1. #® Dial-up Network | STa6-31 2o

2. % Digital transmission | e s
2. % Wide Area MNetwork, | @58 UIAT Head
4 % EBroadband Network | #igds Sead

Question Number : 99 Question Id : 3354727529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
which of the following you can paste selectively using Paste Special cormrnand in MS Excel? | TATE Ugaa H 16T

HUE BHIS W 0 B 5 A HEAR T § 6 g U e awd 57
Options :

1. % validation only | Fad dieea

2. % Formats only | &dd BIHT

3. ¥ Forrmulas only | S ST

|

¥ Al of the above | IR IgT T4T

Question Number : 100 Question Id : 3354727530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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A alphanumeric cormnbination like “J6" in Excel would mean a: | UFad § “J6" S8 UF ST5Rid 1 dara- &7 orf e
BT E:

Options :

1. ® workbook address | @dag® U120
2. % Worksheet address | g%z 129
= ¢ Cell address | 97 U2d

4 % File name | BTE &7 A0
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